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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THISTEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC, IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D ASTHE CASE MAY BE IN THE
APPROPRIATE PLACE IN THE RESPONSE SHEET.

You, haveto enter your Roll Number on this Your Roll No.
Test Booklet inthe Box provided alongside.

Do NOT write anything else on the Test Booklet.
ThisBooklet contains 120 items (questions). Each item comprises four responses (answers). You will select
one response which you want to mark on the Response Sheet. In case you feel that there is more than one
correct response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each item.

In case you find any discrepancy in this test booklet in any question(s) or the Responses, a written
representation explaining the details of such alleged discrepancy, be submitted within three days, indicating
the Question No(s) and the Test Booklet Series, in which the discrepancy is alleged. Representation not
received within time shall not be entertained at all.

You have to mark all your responses ONLY on the separate Response Sheet provided. See directionsin the
Response Sheet.

All itemscarry equal marks. Attempt ALL items. Your total markswill depend only on the number of correct
responses marked by you in the Response Sheet.

Before you proceed to mark in the Response Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Response Sheet as per instructions sent to you with your Admit Card
and Instructions.

While writing Centre, Subject and Roll No. on the top of the Response Sheet in appropriate boxes use
“ONLY BALL POINT PEN”.

After you have completed filling in al your responses on the Response Sheet and the examination has
concluded, you should hand over to the Invigilator only the Response Sheet. You are permitted to take away
with you the Test Bookl et.
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1. Mot of theseaweedsbelongtoclass:
(A) Chlorophycese (B) Dinophycese
(C) Phaeophycese (D) Cyanophycese

2. Algeeuseful asBio-fertilizer generaly belongtoclass:
(A) Cyanophycese (B) Chlorophycese
(C) Xanthophycese (D) Badillariophycese

3. Mushrooms, puff-balls, toad-stoolsbelong totheclass:
(A) Phycomycetes (B) Ascomycetes
(C) Baddiomycetes (D) Deuteromycetes

4.  Sexud reproductionisabsent among
(A) Phycomycetes (B) Ascomycetes
(C) Badgdiomycetes (D) Deuteromycetes

5. Inmost fungi mycdlid wall ismadeup of :
(A) Chitin (B) Cdlulose
(©) Hemicdlulose (D) Pectin

6. Funga sporesproduced asexually at thetip of hyphaearecalled:
(A) Conidia (B) Sporangiophore
(C) Spores (D) Arthospores

7.  Most poisonousmushroomis:
(A) Agaricus (B) Polyprous
(C) Amanita (D) Lycoperdon

8. Flowersof Fungi are:
(A) Mushroom (B) Toadstools
(©) Puffbdls (D) Moalds

9.  Fungi which occur onwood are:
(A) Epibiotic (B) Epicarpic
(C) Epixylic (D) Epigeon
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10.

11.

12.

13.

14.

15.

16.

Fungi canbestained by :
(A) Cottonblue (B) Sdfranine
(C) Glycerine (D) Lactophenadl

Basidiosporesare characteristic of :
(A) Breadmold (B) Mushrooms

(C) Aspergillus (D) Yesst

Respiratory structurein bacteriaare:
(A) Mitochondria (B) Ribosomes

(C) Mesosomes (D) None

Bacteriaareregarded to be plants because:
(A) Someof themaregreen (B) They arepresent everywhere
(C) Someof them cannot move (D) They havearigidcdl wall

Bacteriado not need sunlight to grow because:

(A) They preparetheir food without the help of light

(B) They donotlikesunlight brightness

(C) Duetoabsenceof chlorophyll they areincapable of manufacturing their ownfood
(D) They useother kindsof light for manufacturing their own food

A free-living bacterium capable of fixing atmospherenitrogenis:
(A) Saphylococcus (B) Sreptococcus
(C) Azotobacter (D) None

Bacteriahavethefollowing organdlles:
(A) Mesosomes (B) Golgi bodies
(C) Mitochondria (D) Lysosome
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17. A bacterid cdl differsfrom higher plantsinlacking :
(A) Amitoss (B) Atruenucleus
(C) Cdlwadl (D) Ribosomes

18. Bacteriacannot surviveinahighly salted pickle because:
(A) Sdtinhibitreproduction
(B) Bacteriadonot get enoughlight for photosynthesis
(C) They became plasmolysed and consequently killed
(D) Thepickledoesnot contain nutrients necessary for bacteriatolive.

19. Bacteriahaveincipient nucleus(nucleoid) and hencethey areplacedin:
(A) Prokaryota (B) Eukaryota
(C) Bath (D) None

20. Bacterial leaf blightisaseriousdiseaseof :
(A) Paddy (B) Potato
(C) Wheat (D) Tomato

21. Muramicacidispresentinthecel wall of :
(A) Yest (B) Becteria
(C) Rhizopus (D) Virus

22. Tobaccomosaicvirus(TMV) wasfirstisolatedin crystalline state by :
(A) Sbin (B) Bergold
(C) Chase (D) Sanley

23. Bacteriophageconsistsof :

(A) Carbonandnitrogen (B) DNA
(C) Nucleoprotein (D) Proteinonly
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24.

25.

26.

27.

28.

29.

30.

Virusesareessentially madeup of :
(A) Proteinsandnucleicacids
(C) Proteinsandlipids

(B)
()

Mosaic of sugarcaneiscaused by :

(A) Bacteria (B)
(©) Rng (D)
Firsisolatedvirusis:

(A) Poliomylitesvirus (B)
(C) TMV of tobacco (D)
Bacteriophageissmilar tofungus:

(A) Inhaving RNA asgenetic materia (B)
(C) Inhavingcdl wal (D)

Which of thefollowing statement iscorrect ?
(A) Virusesdo not containnucleicacid
(C) Allvirusescontain RNA

(B)
)

Whichoneisaviral diseasegroup ?

(A) Influenza, Meadesand Mumps (B)
(C) Polio, Hydrophobia (D)
A mossdiffersfromaferninhaving:

(A) Alternationof generation (B)
(C) dependent sporophyte (D)
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Starch carbohydrates
Starch, protein and carbohydrates

Virus
Polio

Virusof influenza

Noneof theabove

Inhaving DNA asgenetic materia
Mode of reproduction

All virusescontain DNA

Somevirusescontain DNA and someRNA

Chicken pox, Small pox
All theabove

Swimming sperms
Anindependent gametes



31

32.

33.

35.

36.

37.

Annulusin mosscapsule separates:
(A) Operculumfromcollumdla (B) Thecafromcollumella

(C) Operculumfromtheca (D) Columelafrom gpophysis

Thecentral middle part of themosscapsuleissterileandisknownas:

(A) Apophyss (B) Sporesac
(C) Operculum (D) Codumdla

Thedevel opment of sporophytesfrom mossgametophyteswithout sexua fusioniscaled:

(A) Apogamy (B) Apospory
(C) Amphimixis (D) Parthenogenesis

Inwhich of thefollowing groupswould you place aplant which produces sporesand embryos
but lacks seedsand vascul ar tissues ?

(A) Rung (B) Pteridophytes
(C) Bryophytes (D) Gymnosperms

Spore mother cellsof bryophytesare:
(A) Haploid (B) Diplod
(C) Tetrgploid (D) Polyploid

The gametophyte of mossis:

(A) Capaule (B) Seta
(C) Zygote (D) Protonema

Polystdicstemisseenin:
(A) Sdagindla (B) Riccia
(C) Funaia (D) Cycas
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38.

39.

40.

41.

42.

43.

45.

Formation of sporophytefrom vegetative portion of prothalus:
(A) Apospory (B) Parthenogenesis
(C) Parthenocarpy (D) Apogamy

Meiosisdoesnot take placeintheformation of gametesfrom:
(A) Prothdlus (B) Protonema

(C) Sporangium (D) Promycdium

Which of thefollowing doesnot haveacentral pith ?
(A) Sphonostee (B) Dictyostde
(C) Protostee (D) Solenogele

Theplaceor point where sporangium of fern burstsis:
(A) Operculum (B) Anmnulus
(©) Somium (D) Odiole

Ferndiffersfrommaossinhaving :
(A) Motilesperms (B) Didinctdterationof generation
(C) Independent sporophyte (D) Independent gametophyte

Photosynthesisleavesof fern plantsareknownas:

(A) Fronds (B) Sporophylls
(C) Ramenta (D) Microphylls

Guard cdllsdiffer fromepiderma cellsinhaving :
(A) Mitochondria (B) Vecuole
(C) Cdlwadl (D) Chloroplast

Sporangiabearing leaf iscalled
(A) Ramentum (B) Indusum
(C) Sorus (D) Sporaphyll
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46. Cdlswhichundergomeiosisinthelifecycleof Sdaginelaare:
(A) Zygotes (B) Sporemother cells
(C) Spores (D) Gametophyte

47. Cordloidrootshelptheplantin:
(A) Absorption of water (B) Absorptionandfixationof Nitrogen
(C) Anchorage (D) Noneof theabove

48. TheCycasisagymnosperm because:
(A) Itsxylemcongstsof trachieds (B) Itlacksovary but hasexposed ovules
(C) Itformsseeds (D) Itbearspollengrains

49. Cycasand Pterisresemble each other inthepresenceof :
(A) Cambium (B) Ciliatesperms
(C) Vesds (D) Seeds

50. Secondary woodin Cycasisdevoidof :
(A) Protoxylem (B) Metaxylem
(C©) Vessds (D) Trachieds

51. Endosperm of pinusor cycasisfoundto be:
(A) Haploid (B) Diplod
(C) Triploid (D) Tetraploid

52. Fruitsarenot found in gymnospermsdueto absenceof :
(A) Ovay (B) Pdllination
(C) Seeds (D) Fetilization

53. Cycasdiffer from Sdaginellainhaving:

(A) Embryo (B) Seed
(C) Megaspores (D) Motilesperms
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54.  Organismswhichfix atmospheric nitrogen in thesoil arefound among :
(A) Mosses (B) Greendgee
(C) Sailfungi (D) Bacteria

55. Minera matter inthesoil isdueto:
(A) Decompostionof humus (B) Heavyranfal
(C) Digntegrationof rocks (D) Transporation of top soil

56. Plantshavesupply of water from soil as:
(A) Runoff water (B) Gravitationa water
(C) Capillary water (D) Hygroscopicwater

57. Chlorophyll contains:
(A) lron (B) Magnesum
(C) Potassum (D) Manganese

58. Chlorosisoccursinplantsgrownin:
(A) Darkness (B) Shade
(C) Stronglight (D) Iron-freemedium

59. Whichoneisaninorganic nutrient ?
(A) Cdlulose (B) Vitamin
(C) Cddum (D) Proten

60. Root hairsoccurinthezoneof :
(A) Cdldivison (B) Cdledongation
(C) Cdlmaturation (D) Noneof theabove

61. Root cap hasnoroleinwater absorption because:

(A) Ithasnodirect connectionwithsoil  (B) Ithasloosdly arranged cells
(C) Ithascdlscontaining chloroplast (D) Ithasnoroot hairs
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62.

63.

65.

66.

67.

68.

69.

Whenacdl isfully turgidits:
(A) SP=TP (B) DPD=0O
(C) OP=0 (D) DPD=0OP

Stomatal openinginagenerd leaf iscontrolled by :
(A) Guadcdls (B) Pdisadecdls
(C) Parenchymacels (D) Mesophyll cedls

Exudeation of water intheform of liquid fromleavesof plantsiscalled:

(A) Guittetion (B) Osmoss
(C) Transpirdion (D) HPasmalyss

Rate of transpiration can bemeasured by :
(A) Potometer (B) Auxanometer
(C) Manometer (D) Hygrometer

Enzymes connected with Kreb'scycleare packedin:
(A) Mitochondria (B) Chloroplast
(C) Nudeus (D) Ribosomes

In photosynthesislight :
(A) isconvertedintokinetic energy (B) actsdirectlyonC
(C) isconvertedinto chemica energy (D) actslikecataysts

Thefirst compound that accepts Carbon dioxide during dark phaseis:

(A) NADP (B) Ferredoxin
(©) RuBp (D) Cytochrome

WhenATPisconverted intoADP, it rel eases:
(A) HEedridty (B) Hormones
(C) Enzymes (D) Erergy

BKU-14140-A 11

[Turn over



70.

71.

72.

73.

74.

75.

76.

7.

If fructose-6-biphosphate participatein glycolyss, thenet gain of ATPwill be:
A) 1 (B) 2
© 3 (D) 4

Biologica equilibriumisequilibriumamong:

(A) Producers (B) Producers& consumers

(C) Decomposers& producers (D) Producer, decomposer & consumers
MAB standsfor :

(A) Man& Biosphere (B) Man, antibiotic & bacterium

(C) Mané& hioticcommunity (D) Meyer,Anderson & Bisby

Herbivoresutilize how much energy from thefood they get to build their body ?
(A) 10% (B) 20%
(C) 33% (D) 50%

If phytoplankton are destroyed in the sea, then
(A) Itwill affectthefood chain (B) Noaffectwill beseen
(C) Algeewill getmorespacetogrow (D) Primary consumerswill grow luxuriantly

Overgrazing by animalsresultsin:
(A) Sheeterosion (B) Rilleroson
(C) Podtivepoallution (D) Negativepallution

Theterm hybridomaimplies:
(A) gameticfuson (B) hybridvirion
(C) somdichybridization (D) DNA-RNA hybrid

Saprophytic bacteriaand fungi come under thegroup :
(A) Producers (B) Omnivores
(C) Decomposers (D) Noneof these
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78. Study of aspeciesinrelationtoitsenvironmentisknownas:
(A) Synecology (B) Autecology
(C) Ecology (D) Alltheabove
79. Mangrovevegetationisfoundin:
(A) Kulluvdley (B) Sundarbans
(C) Westernghats (D) Deéhradunvdley
80. Progeny of acrossmade between two pure parents show increased vigour and productivity. This
isdueto:
(A) Sdection (B) Hybridization
(C) Hybridvigour (D) Mutetion
81. Method of selectionin plantsshowing vegatative propagationis:
(A) Clond sdection (B) Masssdection
(C) Purelinesdlection (D) Pedigreesdection
82. Bananaplantscanberapidly multiplied adopting:
(A) Aerid grafting (B) Aerid semcutting
(C) Rhizomecutting (D) X-ray Irradiation of fruits
83. Mutageniceffect of X-rayswasdiscovered by :
(A) T.H.Morgan (B) HJMuller
(C) GW.Beadle (D) HugoDevries
84. When chromosomessetsare presentsin multipleof n, theconditioniscalled:
(A) Euploidy (Polyploidy) (B) Aneuploidy
(C) Diploidy (D) Haploidy
85. Redrot of sugarcaneiscaused by :
(A) Colletrotrichum (B) Rhizoctonia
(C) Pyricularia (D) Fusarium
BKU-14140-A 13
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86.

87.

88.

89.

90.

91.

92.

93.

94.

Covered smut of sorghumiscaused by :
(A) Puccinia (B) Sphacelotheca
(C) Cercospora (D) Caoalletrotrichum

Whichof thefollowingisafungicide?
(A) DDT (B) Bordeaux mixture
(© 24D (D) Penidllin

Vascular wilt diseasesaremostly caused by :
(A) Puccinia (B) Sphacelotheca
(C) Fusarium (D) Caolletrotrichum

Damping off of seedlingsiscaused by speciesof :
(A) Pythium (B) Phytophthora
(C) Albugo (D) Alternaria

Thefunction of rough endoplasmic reticulumissynthessof :

(A) Fa (B) Lipid

(C) Protein (D) Seroid

Somoclond variationare:

(A) Caused by mutagens (B) Causegammarays

(C) ProducedinTissueculture (D) Produced during sexual reproduction

DNA generdly actsastemplateof :
(A) onlyprotein (B) onlyDNA
(C) onlyRNA (D) both DNA and RNA

Formation of RNA from DNA isknown as:
(A) Transcription (B) Trandaion
(C) Replication (D) Recombination

Which of thefollowing wavel engthisabsorbed maximum for photosynthesis?
(A) 660nm (B) 680nm
(C) 440nm (D) 700nm
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95.

(A) irreversbleprocess (B) reversibleprocess
(C) bothof theabove (D) noneof theabove
96. Themostimportant lipidsin eukaryotic cell membranesare:
(A) Seols (B) Glycolipids
(C) Phospholipids (D) Alltheabove
97. What doesBt stand for in popular crop of Bt cotton ?
(A) Biotechnology (B) Tissueculture
(C) Bacillusthurengiensis (D) Noneof these
98. First gepingeneticengineeringis:
(A) Isolationof RNA (B) Isolationof Protein
(C) Isolationof geneticmateria (D) Purificationof protein
99. Natura geneticengineeris:
(A) Agrobacteriumsp (B) Rhizobiumsp
(C) Bacillussp (D) Bacteriophage
100. Theterm hybridomaimplies:
(A) Gametic (B) Hyhbridvirion
(C) Somatichybridization (D) DNA-RNA hybrid
101. “Eobiont” means:
(A) Mutua occurrenceof twoorganisms (B) Parastecausngamoebioss
(C) Firgtorganismonearth (D) A nitrifying bacteria
102. Purehomozygousoffspringsinadihybrid crossinthe F2 generation will be:
(A) 12 (B) 14
(© 18 (D) V16
103. Who coinedtheterm‘meiosis ?
(A) FEF Blackmann (B) |.B.Farmer (and Moore)
(C) aHemming (D) VonMohl
BKU-14140-A 15
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104. Synapsisisacharacteristicof :
(A) Leptotene
(C) Peachytene

105. Stiltrootsare produced by :
(A) Lowerinternodes
(C) Lowernodes

106. Velamentissueisformed by :
(A) Stem
(C) Hangingroots

107. Black pepperisa:
(A) Tree
(C) Climber

(B)
()

(B)
)

(B)
(®)

(B)
(®)

Zygotene
Diplotene

Upper internodes
Upper nodes

Clingingroots
None of these

Shrub
3cm. tall herb

108. Smallest angleof divergenceindtering phyllotaxy is:

(A) 1440
(C) 120°

109. Intercdary meristemresultsin:
(A) Secondary growth
(C) Apicd growth

110. The“Histogentheory” wasproposed by :

(A) Nagdi
(C) Schmict

111. Vessdlsarenotfoundin:
(A) Teak wood
(C) Chirwood

(B)
)

(B)
(D)

(B)
(®)

(B)
(®)

112. Anedongated cdll withtapering endsistermed :

(A) Coallenchyma
(C) Sderenchyma
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(B)
(D)

180°
135°

Primary growth
Perdidermformation

Hangein
Haberlandt

Shishamwood
Sa wood

Vesd
Trachieds
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113. Micropropagationiscarried out by :
(A) Hybridisation (B) Genetic Recombination
(C) Parasexud mechaniam (D) Tissueculture
114. Theouter Whorl of Bougaunvilleaflower consistsof :
(A) Bracts (B) Sepds
(C) Peads (D) Noneof these
115. PollengraninAngiospermscontain :
(A) Sngleprothdluscel (B) Twoprothdluscels
(C) Threeprothdlia cdls (D) Noprothdlid cdll
116. A typica exampleof crosspallinationis:
(A) Rice (B) Maze
(C) Wheat (D) Cotton
117. Theangiospermsareknownas:
(A) Magnoliophyta (B) Rosophyta
(C) Mavophyta (D) Gramophyta
118. Who wasfirst to distinguish between non-flowering and seed plants ?
(A) RobertBrown (B) Linneeus
(C) JohnRay (D) DeCondolle
119. Inwhichfamily out of thefollowing, largest number of ovuleoccur inacarpe ?
(A) Cruciferae (B) Ranunculacese
(C) Compositae (D) Leguminosee
120. Thenameof thefamily compositeeis:
(A) Brassicacese (B) Asteraceae
(C) Lamineacese (D) Bombacese
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